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11.

3[J331/INSTRUCTIONS

The question paper is in the form of Question Booklet with 50 questions. Separate OMR sheet is
provided for answe'ring.

Question booklets have been marked with A or B or C or D or E on the right hand top corner which shall
be written on the OMR sheet in the box and bubble appropriately.

Each question is provided with multiple answers a., b., c., and d. Only one of them is correct. Use
Blue/Black Ball point pen only for marking your answers.

Answer all questions. All questions carry equal marks.

Multiple answers for a question will be regarded as wrong answer.

Enter your Name and Roll Number correctly on the Question Booklet.

All entries in the OMR sheet should be with blue/black ball point pen only.

Darken the oval against which post you have applied for the examination.

Candidates are not permitted to carry any reference books, logarithm table, calculators, mobile phones
etc., to the Examination Hall.

Candidates are not permitted to leave the examination hali during the first hour of the examination.

Atthe end of the test, both Answer Sheet and Question Booklet shall be returned to the Invigilator.
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HIIT FIH1Y/ Government of India
_ 37t fram/Department of Space
Tersp® WTTATE 32T 6g/VIKRAM SARABHAI SPACE CENTRE
ferea= T/ Thiruvananthapuram-695022

TRAATA- S (SlreifcAeh AhicAn)

Technician — B (Electronic Mechanic)

AT ST ¥ U T TAT 9T ST Fhal &l
a. lﬁﬁ'gﬁ

b. 2feife

C. Sﬁfgﬁ

d. @ dffacdriie

A Parity check usually can detect
a. 1biterror

b. 2biterror

c. 8biterror

d. Any bit error

MY T FH cAHTT 37U 0.375 Tl

a. 0.0011

b. 0.011

c. 0.0111

d. 0.111

Decimal fraction 0.375 in binary form is

a. 0.0011

b. 0.011

c. 0.0111

d. 0111

TF 3F3 FE S AT — & 3rdeT ¥
& ooy

a

b

@

d. cH au-garg

A decade counter requires
a. Two flip-flops

b.  Three flip-flops

c.  Four flip-flops

d. Ten flip-flops
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el disrac & AR (1+T+dT+d) &l

HhdT B

a. T+EHET

b. wdd

C. 1+TefTEY

d 1

According to Boolean Algebra (1+A+B+C) can be simplified as
a. A+B+C

b. ABC

c. 1+ABC

d 1

TH qEe P THE o
a. 2fae

b. 4f¥e

c. 8fae

d l16fe

A byte is a group of

a. 2bits

b. 4bits

c. 8bits

d. 16bits

foret ot F HouTeAd gANROT A & W
a. fawuor gg Sar &

b. TERAT HH & oY &
c. A ufdearn &a & o
d. e ufderer & & s ¥

Introduction of negative feedback in a system

Increases distortion

decreases the stability

decreases the input impedance
decreases the output impedance

oo
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U IRUA URUA &l JaAT 3 divgvAvyg iR gfdgd 4 fivguAeyg & ar =9

gRuy &1 gfdemar &l
a. 53TguAaTH

b. 7 HlUguHATH

C. 1 3TTITH

d. 1.33 3TTUTHTH

An RL circuit has a resistance of 3 Ohms and a reactance of 4 ohms, the impedance of
the circuit is

a. 50Ohms
b. 7 Ohms

¢. 1lohm

d. 1.33 ohms

40 ASHI-IRE & T HUffex @ 500V &1 fawg Feaar dao g frar srar

& ar zg Hufdex gro s F 36T o
a. 125

b. 2

e 0.2

d  0.02

A capacitor of 40 Micro-farad is charged to a potential difference of 500V, the charge
acquired by the capacitor in Coloumb is

a, 125
b. 2

c. 0.2
d. 0.02

fArafaf@a # @ frua soaciae aRuy F e Aty e & s & wgs

ferar e ¥?
a. yfadu®
b. fafa B
c. 33
ziforex
Which of the following is used as a passive component in electronic circuit?
a. Resistor
b.  Vacuum Triode
c. Diode
d. Transistor
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10. fawafaf@a # @ 60 gk & fHETor T #A|d dleedl AT & dg5d P §7

a. UHHIAR

b. g

¢ W}mfﬁéﬁ

d. SR EEE

A device whose characteristics are very close to that of an ideal voltage source is a
a. SCR

b. FET

c. MOSFET

d. Zener diode

11. 2 Fafodl & FaReca waer: 4mH 3R 9mH ¥ I ZooA &1 7o 0.5 & dr

31 gsfordl & & @ 3T IRepea gl
a. 6.5mH

b. 18mH

c. 3mH

d. 12.5mH

The self inductance of two coils are 4mH and 9mH respectively. If the coefficient of

coupling is 0.5, the mutual inductance between the coils is

a. 6.5mH
b. 18mH
c. 3mH
d. 12.5mH
12. U goia: gfaRrdt ofuyr @ afes aqure el
a. Rd
b. ofdia
c. efda
4 gfe
The power factor of a purely resistive circuit is
a. Zero
b. Lagging
c¢. Leading
d. Unity
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13.

14.

15;

50 V R g & Udh SAEST JYd H IRTATH A

a. 502

b.  50/~2

c. 2542

d 25/V2

RMS value of a Sinusoidal supply whose peak value is 50V is
a. 502

b.  50/42

c. 2542

d 25/V2

a Hﬁﬁmfﬁ'ﬂ?

b. I Yeea

c Wmﬁm
d. glel Yeee

The Antenna employed in Television receivers
a. Half wave dipole

b Yagi antenna

¢.  Rhombic antenna

d. Horn antenna

gatad 3ngha RRar 3R gurdar @ g e aferd
a. Topecaaiferd

b. ITICH G
C: CRIRIESCHAIGE]
d. eterafes

An oscillator with best frequency stability and accuracy
a. Crystal oscillator

b.  Colpitts oscillator

c.  Tickler feedback oscillator

d. Hartley oscillator
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16.  3MATH Foae F dwror Jz Hler & TR E|
a. 3TYR ds 9leE
b. 3MYR s =S & al a1 3ifdw
c. YR dz disE & e

d. 3TYR I3 =SS & IR I[AT HUH
In amplitude shift keying, transmission bandwidth is equal to

a. Base bandwidth
b. Twice base bandwidth

e Half the base bandwidth

d. Four times base bandwidth

17. Rafafag # a sla-ar a6 ga@ g &2

a. &adwa

b. sHTA

c. HwANTH

d. TATHNTS

Which of the following logic is the fastest?
a. TIL

b. ECL

c. CMOS

d. LSI

18. 100 dleedl WA & UH Uaded 10V fiaar a1 &1 faQu deear & e
el

a 1000V

b 100mV

c. 10V

d. 10mV

An Amplifier circuit of voltage gain 100 gives 10V output, the value of input voltage
a. 1000V
b.  100mV
c. 10V

d. 10mV
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19.

20.

21

22,

UhTIAF SATTATAY T STATT

a.  GeBIRT &Y Arerar

b. T dmgeTe

c. ST dNgATA

d.  geIer & dierar 3R o9 argAT
Optical Pyrometer is used to measure
a.  Light Intensity

b. Low temperature

c.  High Temperature

d. Light Intensity and High Temperature
faega sa1 1 3HrS gl
a. dlec-UMUIR

b. kW

c¢. kWh

d. oA

Unit of Electrical Energy is

a. Volt-Ampere

b. kW

c. kWh

d. Coulomb

TF S W P W 2
a. 10¢%E

b. 109 ¥E

c. 1012%E

d.  103%E

One nano farad is equal to
a. 10®%Farads

b. 10- Farads

o 10-12 Farads

d. 103 Farads

In N-

jot]

b.
C.
a

e

geT3t O U oft |

type semi conductor, the majority carriers are
holes

electrons

neutrons

none of these
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24.

25.

26

EM/12

duAE # gig & WY, e F-ared & faga ufay

a g AT &

b. dEIATATE

C. WT&'HT?T

d. Ugel g ST & 3R T g Smar §

With increase in temperature, the electrical resistance of a semi conductor
a. Decreases

b Increases

e, Remains constant

d First increases and then decreases

fArafaf@a # @ e gfaada A afas & a9 d garn a8
a. 3R

b. TWTAST
c. UAUTASS
d.  SUFH-33IR

Which of the following is termed as Universal gate logic?

a. OR

b. AND

c. NAND

d. EX-OR

HSH Teh -]

a. s gRadd voTer
b.  WEITH FUTAIOT YOI

c. Agferd faaATZgiaT yomelr
d. Targfers agla uomel

Modem is a
a. Code changing system

b.  Program Conversion system

c¢.  Modulator demodulator system
d. Demodulator modulator system

eRIFTd HEAT 14 1 fEITURY yomel yomelt # g & forar Simw
a. 1110

b. 1111

c. 1100

d. 1001

Decimal number 14 may be written in Binary system as

a. 1110

b. 1111

c. 1100

d. 1001
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27.

28.

25,

mwﬁmwmwawmmzoma

ar 3| grRT gartedr el
a. 1mA

b. 5pA

c. 500pA

d. O08A

The Voltage Sensitivity of a multimeter is 10mV,its internal resistance is 20 ohms.
Then its current sensitivity is

a. 1mA
b. 5pA
c. 500 pA
d. 0.8A
T garsey Tfd g
a. ARTUH
b. 3RATH
c. UnmRaNTH
d. SUFRNTH
is a Volatile memory device
a. RAM
b. ROM
C. PROM
d. EPROM

ST o HuY et F ¥ ve HIGH &, ad Ue HIGH R daaren uah difasd
e gy

T3NS
IR
TUAST

SuFE-3NHAT
logic gate circuit that outputs a HIGH whenever one of its inputs is a HIGH
NOT
OR
AND
EX-OR

e P

o TR a0
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30.

als

32.

EM/12

ag uerd, S U re-urers a9 B

a. fafom=
b. SAETH
c. Aforme 3mdaEs
d. 3ad ¥ ud W8I

The material which is not a semiconductor is

a. Silicon

b. Germanium

2 Gallium Arsenide

d. None of these

TEH I UHR & IET A AhT ufads el

a. P TET

b.  3fddd e3y

c. SRR Glecddhcd TBy

d. HHR gl <3y

The fastest type of Analog to Digital converter is
Counter type

Tracking type

Successive approximation type

Parallel comparator type

o o

a. dieedl 3=aradd
b. 3aenfEar
c. fagd vema & @A

d. TTclehl T 3T dTTHTA

Earthing is necessary to give protection against
Voltage fluctuation

Overloading

Danger of electric shock

High temperature of the conductors

on o
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33.

35.

ZTafaster yaror 3 ifgat & fom 3Tt foht SaTe ATgad &1 THR 2l
a. Sogdr

b. THUHH
c. drogdy
d. UHTH

In television transmission, the type of modulation used for video is
a. DSB

b. SSB

c. VSB

d FM

U HOR 3UAE H, ol defell & A wepd fopAT ST ¥
a. <RUH

b. UGSITH

c UpUuH

d. TTH

In a communication satellite, the telephone channels are assembled in
a. TDM

b. FDM

c. M

d AM

g% Mg, 58 vod awor i waia ag fear Jar g

a. Eu?rm&fraﬂqﬁr
b. faFT o 3mgha
Cs -‘HWSH‘I’Q%
d. dargd g

The frequency which is not transmitted in AM transmission is
a.  Upper side frequency

b. Lower side frequency

c.  Audio frequency

d. Carrier frequency
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36. TAFfaf@d # @ Hia-|1 TG B AGAT TdeR A dg Iedn?

a. Useey UH
b. dwTd
ol grda
d. drwed
Which of the following Pulse time Modulation does not exist in practice?
a. PWM
b. PAM
c. PPM
d. PFM
37. AU & yarE i eT A Fel ST Bl
a. dlecdl
b. YRT
c. HAH
d. afp
The rate of flow of charge is termed as
a. Voltage
b. Current
c¢. Coulomb
d. Power

38.  HU-greIe WS #d @RS @ qut wu o ¥

AT hives Basy

d.

b. TN GFYg Farzw
c. Wereee e f3asy
d. & woaex Basy

In semiconductor Technology CCD stands for
a. Charge Coupled Device

b. Close Circuit Device

c. Constant Current Device

d. Common Collector Device
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29

40.

4].

wzpFWaﬁmﬁwﬁﬁ6pA3ﬂﬁamwﬁ4ﬁ«?ﬁ$%mm@aﬁm

ST ¥ ar HufAer f IRUR aleedT oot
a. 3V
b. 12V
& 48V
d. 33V

A 2yF capacitor is charged by a constant 6pA charging current for 4sec, the voltage
across the capacitor will be

a. k3%

b. 12V

C. 48V

d. 133V

T e &1 Rwg gt &1 FadE o #F g ¥
a. YTelh

b. LT

C a1 AT=8a

d. FAus @i

The maximum value of potential gradient in a cable occurs in
a. Conductor

b. Insulation

C. Quter sheath

d. None of these

2omm$mﬂ@§$uﬁuuﬁ1oovmwmﬁﬁmm%ai

yfaRiy & FRoT B g8 AT Rl
a. 500dic

b. 2000 4drE

c. 200dic

d. 5drc

A Voltage of 100V is applied to a circuit of Resistance of 20 Ohms, the Power
dissipated by the resistance will be

a. 500 Watts
b. 2000 Watts
c. 200 Watts
d. 5 Watts
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42.

43.

EM/12

o 3gfa & Bt ¥, aRuy @ ove gk

a.

b.

d.

96 ST E

T AT E

sraRafda war

Ueel 96 SITdT & 3R AR ge T

As the frequency decreases, the inductive reactance of the circuit

SR

b

Rating of Transformer is expressed in

pp o

oo

increases

decreases

remains same

first increases and then decreases

] &1 I # 31T foRar Srar )

kV
Kva
kVAR
kW

kV
Kva
kVAR
kW

afe fordly grawER & Adsl o @ g fpar Smar ¥ 3R 6 @ew wEAd
dreedl & Y T HH AT Sar & ar Yl Qeear |

a.

b.

C.

d.

3T B STl &
I & ST &
3ufafda e g
IAT 9 ST B

If in a Transformer, the secondary turns are doubled and at the same time primary

voltage is reduced by half, then the secondary voltage will

oo o

be halved

be twice

no change

be four times as high
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45.

46.

47.

U giHER F TgUY (AME IFYL) & 3T & AT & &
fore TR ST &l

a. frfrae WA H AT

b. TR @ls WA &1 AE

& ﬁ@ﬁ'ﬁqﬂiﬁfﬂg

d. HRURFTAE

The short circuit test in a Transformer is used to determine

a. Ironloss at any load

b.  Copper loss at any load

(65 Hysteresis loss

d. Eddy current loss

U UAIEY & HaRe ufara 21T =TfRT|
a 3T

b. HEOH

C. EI§F[ A

d. 3dd

The internal resistance of an ammeter should be

a. high
b. medium
c. verylow
d. infinity
& AT & T TP RN &7 3UAT A6l fHIT S Hehd|
dieedm
b. HURT
c. TgREI
d. ufw

A CRO cannot be used for the measurement of

a0 oo

Voltage
Current
Frequency
Power
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48.

49.

50.

EM/12

ufdsTar AT & qad HAw 37T grafaex dwgor &l
a. SHgfasdw

b. 3HIfAT scgo®

c. SIS GaATER

d. 338 Uk WA

The Transistor configuration most suitable for impedance matching is
a. Common base

b. Common Emitter

¢.  Common Collector

d. None of these

TF QU a7 fEEeRY &1 Ruer therex Tl
a. 121

b. 0.48

c. 0.62

d. 1.0

The ripple factor of a full wave rectifier is

a 1.21

b. 048

c. 062

d. 1.0

Q-G Tades HT ST & & A fpar Sar
a. Afh ugds

b. T YTHH

c. 3RU% ya¥es

d.  ScHold I

Push-Pull amplifier circuit is used as

a. Power Amplifier
b.  Audio Amplifier
c. RF Amplifier

d.

Emitter follower
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